I— A B c D E F G H I J
ling fan | i
66 [2.60] 404 [15.91] 66 [2.60] Note: Spreader bar required Cooling fan location
HORIZONTAL MTG DIM HORIZONTAL MTG DIM HORIZONTAL MTG DIM to aVOId damage durlng Ilftlng ﬁ §
1 Pl g
23[0.91] 5 = (4)-Lifting Holes o =]
HORIZONTAL MTG DIM T g 5% % 930 [g»] 18] A E Lf) £
SRR N Ir © -~
| 169.5 [6.67] | 65 [2.56] = |*3 \ ©
I —e%i 1 - P~ g% B . y;
3 W8 ! 8 o ko o o
(5) Mounting Holes E | = < jEE °
2 for M12 [1/2"] Screws B ‘ = o °
| g5
2 | < w, B
i (14) Mounting Holes 3 i | =25 Nameplate
for M5 [#10] Screws © i 3|85
S| | kol & )
© o & T o) : is —_— ; :
3 & 22 e @ = 3
‘ — 104z [N ~ o
H X, o e N <
BN o =z @ = -
Keypad |} || F 0 ;3 g2 S
| g 7+7\_=
- S
8 = b= B3
© . j — >
4 © % T 1723 | | =0
© g 078) | | g% I
| Al ORR 1= ° e
| w P32 .
— e 8 o ko ] o
= PO 09 7 Nl E Y¥s -
\
g AirE )
5 43 [1.69] 450 [17.72] 43 [1.69] 03z 60.9 [2.40] 0
HORIZONTAL MTG DIM HORIZONTAL MTG DIM HORIZONTAL MTG DIM a E g = 9‘
n| > Yo}
- ™
1 | 517 [20.37] | 2.5[0.10] 480 [18.90] -
Center of Gravity
Note: Dimensions shown
are measured from the
6 bottom left mounting hole
C/C:  |INPUTVOLTAGE | WEIGHT |COOLING
— — GA80n | 3-PHASE (VAC) | Kg (Ib) FANS
(e}
g 4477000 200 (440) 2
o 4568000 200 (440) 2
§ 4605000 380 TO 480 200 (440) 2
7 i 4720000 213 (469) 3
| 5382000 212 (466) 3
5412000 500 TO 600 212 (466) 3
480 [18.90] 5472000 212 (466) 3
| o denotes A-Z
548 [21.57]
gl 3 | ABD YERMINAL DIAGRAMS P2 @ —1 |DRWN.|J. MATTAS 4-10-19 |TITLE SIZE A |PAGE 10F3 |REV
2 | REVISED MOUNTING BRI £2 YAS I(Aw A —JI | cHKD. | J. PIOTROWSKI [ 5-6-19 GA800 DIMENSION DRAWING  [QWG.NO. 3
1 | ADDED 600V DRIVES UNITS MM [IN] | TECH. |L. UDDIN 5-20-19 FRAME SIZE 11
o TINITIAL RELEASE SCALE 115 TaPRV. 11 GAIRO 61319 | BACKSIDE TYPE 12 ENcLOSURE | DD.GA80.FR11.FLNG




I— A B \ c D \ E F G \ H \ | \ J
Simplified Terminal Diagrams (Scale 1:4)

384.6 [15.14] 40.5[1.59]
289.3 [11.39] 49[1.93] 45[1.79]
41 [1 62] 38 [1 51] MAX BETWEEN BARRIERS
Base POint Of 190-3 [749] 49 [1 -93] MAX BETWEEN BARRIERS MAX BETWEEN BARRIERS 40 [1 .57]
Terminal Board Refer to DD.GA80. TERMBOARD 82 [1.26] 3411.34] | o] |
) ) 167.6 [6.60] drawing for terminal board details CONTACT AREA CONTACT AREA ‘ —
Main Terminals |

with M12 Screws % Main Terminals
e v ( 7 p‘ [ With M12 Screws Diagram A Diagram B Diagram C
— AL R Q)
% & | N 1, [ 4 e
= = 2 3 ; o/ @ S =
5 8 = RololoEe 00 O oLl | § 8 r
3 ﬂ g ) & o 2 9 2
© - s ) - T e
gl ] T (o e S 36 [1.42] ‘ ‘ 34 [1.34] ‘ 40 [1.57] ‘ ‘
® ° ° OPENING RESTRICTION | ! OPENING RESTRICTION | OPENING RESTRICTION | !
. Grounding Terminals
R R AR T with M12 Screws
Mt = e Slot(-)/Hex head
—| 35.5[1.40] (WAF: 18mm) combo 37[1.47]
o - = — MAX BETWEEN BARRIERS
% 44 [1.73] 44 [1.73] 35[1.38] |
o 205 [8.07] 40 [1.57] CONTACT AREA ‘
202.6 [7.97] 40.5[1.59]
287.6 [11.32] 40.5 [1.59] Diagram D Diagram E
. o O
372.6 [14.67] 40.5 [1.59] o N
] , === | 35[1.39] \ 116 [4.57]
Fe === OPENING RESTRICTION f CONTACT AREA
£ o 7
E EyS C/C: TERMINAL WIRE RANGE TERMINAL | CLAMPING TORQUE TERMINAL
- . GA80D SYMBOL AWG (mn) SCREW N.m. (Ib.in.) DIAGRAM
_ ©
_ —_ | @|g | Mrrooo | RLLSAZTAS T 0x2P (70-150x2P)| M2 35 (310) A
y N 0 g © g 8 4568000 R/L1, S/L2, T/L3
: oy c = . : =5 4605000 UIT1, VIT2, WIT3, ] ]
= g e e ] —E & T | g g 4720000 | UM, VT2, wiTs | 2/07300% 2P (70-150x2P) | M12 35(310) B
™ ‘: T — 1 o— o— (o —" o— ;- { o— 11 11§ N~ o - ™ (<] o c 5382000 o+
- = e == E=a L= B S o . .
:'7—) oS == === === % > o % E g g/ 412000 . 3/0 - 400 x 2P (95 - 205 x 2P) M12 35 (310) [¢]
Yo} B Y — e 1117 — { c— l« —" | o— - - { a— o = e}
¥ S== == ==="==5 ¢lE & straaes o 2-400x2P (3-120x2P) | M12 35 (310) D
COOCOCTIC HOC DT HOC OCIHOHC DOCTI DO N
o ey T T o (% 5) 1/0 - 300 (50 - 150) M12 32-40 (283 - 354) E
° ° ° =~ o Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.
3 | ABD YERMINAL DiAGRAWMS P2 @ —1 |DRWN.[J. MATTAS 4-10-19 |TITLE SIZE A |PAGE >OF3 |REV
2 | REVISEB MRON TR AL YASKAWA — | CHKD. |J. PIOTROWSKI |5-6-19 | GAB00 DIMENSION DRAWING  [GvG NG 3
1 | ADDED 600V DRIVES UNITS MM [IN] | TECH. |L. UDDIN 5-20-19 FRAME SIZE 11
o [INITIAL RELEASE SCALE 110 TaPRV. 11 GAIRO 61319 | BACKSIDE TYPE 12 ENcLOSURE | DD.GA80.FR11.FLNG




I— A c D E | F G H I J
Panel Cutout
] -
(5) - M12 [1/2"] 484 [19.06]
Threaded Hole "A"
= 404 [15.91]
X —
“ 23[0.91] ®
2 < X,
3 | 0
=
A M K
" S < - —
| i I I I |
,,%k,, - %/B/
I | =
(14) - M5 [#10] ‘ ! ~ 3o
3 Threaded Hole "B" ‘ | 1 B e
S - | 1 -
: | | g2
| | ! -~ 10
S~ cutouT B
B \ : T _
— | I i o5
4 S | | ) 2w
s eyl | e
N [ ! | —
: ) | 25
| - I ‘ 4‘/{ - 15,
-1 ! _ L
Add gasket /7 | i —
as shown ‘ ‘ ‘ 3 >
] I 'l — 0
5 ‘ ‘ 0,
/Egi,, \ _ LB/
; 7[0.28] | i .-
. >€ \ 26
| B i _ 1B
i ] 1
6 — ! f—
A | A .
5 | *
| = 450 [17.72] 8
S 2
o
536 [21.10]
7
Notes:
Exposed heatsink minimum clearance D = 225 [8.86].
B Refer to Type 12 heatsink external installation manual for additional details.
gl 3 | ABD YERMINAL DIAGRAMS P2 @ —1 |DRWN.|J. MATTAS 4-10-19 |TITLE SIZE |PAGE 30F3 |REV
2 | REVISEB MRON TR AL YASKAWA — | CHKD. |J. PIOTROWSKI |5-6-19 | GAB00 DIMENSION DRAWING  [GvG NG 3
1 | ADDED 600V DRIVES UNITS MM [IN] | TECH. |L. UDDIN 5-20-19 FRAME SIZE 11
o TINITIAL RELEASE SCALE 112 TAaPRV. 13 GAIRO 6-13.19 | BACKSIDE TYPE 12 ENCLOSURE DD.GA80.FR11.FLNG




	Sheets and Views
	DD.GA80.FR11.FLNG-PAGE 1
	DD.GA80.FR11.FLNG-PAGE 2
	DD.GA80.FR11.FLNG-PAGE 3


